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Ch 4 — Inverse Trigonometric Functions

Exercise 4.9

.
’ 3

_,,[con‘i (—x) =—cot™(x) for all x (-1, 1))

l'o:«r" [E] - Sect

)




RD Sharma Solutions Class 12

Solution

- -nr{— sect [;'—;” [‘5".":~I (=%)=-sec 1("))
X Lf5Y o (K
= u-t{-cc-t [E } cot 1{—}]: T 1 [El ]]
-- wloot‘[-li” .......... [cot{-x) = cotx)
"1
Q4
Evaluate
1 7
onfes (-
Solution

Q5

Evaluate

el ()

Solution

Ch 4 — Inverse Trigonometric Functions




RD Sharma Solutions Class 12 Ch 4 - Inverse Trigonometric Functions

cc-sec{ cor [‘ 172”

= z-xec{—.ﬁ3r°’[%] v | oot (=x) = —cc:t"('x))
-0’;01’.{ COS &C [12]} .\_:rt (p COSET [p/l.
- —cc:s-‘:-:{u:x:vsei:" [l—?’»] verpine|COSEC]{=X) = — OO5 BCX)
12,
—
12
Q6
Evaluate:
L4 3
()
Solution ]

3)
= -:os{- tan~ {%]} ..... [tar™ [-f)- —taf™ [)))
onf-cort (ASEIRCINRY O
= CoS {a:-:xs'1 [g } {cosf=x] =0t %) G Y

4
-z ‘
o Gy
Evaluate:

wfor (2}

Solution




RD Sharma Solutions Class 12

b
=¥
i
o
R

(cot™ (—x) = —cot™(

( b
L [=G)
sin tan [}3” el

art[4)-

il
= [§]= -i[r

5
-qnn‘mr _4__“-)‘1_‘
) 3 5

sind tan™ [

=3In {— r:an

3}'

,.A(I'ar]'1 [—x) i ‘tdﬁ.t ll))

l:'l

wsinfeait (g} s 5] )
= -sm{sm’ (é_g)} oo (SO {X) == 80 {x)

o5 3 (-%) = cos™2 (x
)

[ e

Ch4-

)
%)

Inverse Trigonometric Functions

=)




